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equipments :

hook n°2 (2mm), cisor, needle
low, brown and red yarn (corresponding to the size of the crochet hook)

Abbreviations :

La maille serrée (ms) => single crochet (sc)

La maille coulée (mc) => slip stitch (sl.st)

La maille en I’air (ml)=> chain

La bride (br) => double crochet (dc)

= Decrease (Dec) in double crochet (Dec dc) : make one dc in two stit
to previous rank

= Increase (Inc) in double crochet (Inc dc) : make two dc in one stich to
previous rank

BE UL

Makes 30 + 1 chain

Row 1 : 30sc, 3chain, turn

Row 2 : 6dc, 1Dec dc — 13 dc — 1 Decdc - 7dc (28), 3chain, turn

Row 3 : 6dc— 1Dec dc — 12dc — 1Dec dc - 6dc (26), 3chain, turn

Row 4 : 26 dc, 3chain, turn

Row 5 : 26 sc en marron, 1 chain, turn

Row 6 : 26 dc, 3chain, turn

Row 7 : 26 sc en marron, 1 chain, turn

Row 8 : 26 dc, 3chain, turn

Row 9 : 8 dc — 4Inc dc — 2dc- 4Inc dc — 9dc, 3chain, turn

Row 10 : 9 dc— 4Dec dc — 2dc — 4Dec dc — 8 dc, 3chain, turn
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Row 11 : 5dc- skip 4 stitch — 6 chain — 10 bdc — skip 4 stitch — 6chain - 4dc,
3chain, turn

Row 12 : *2dc- Dec dc*,all rank, 3ml tourner

Finishes :

- On the coast: make 22 sc

- on the bottom : make 30 sc
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Sleeves :

Rang 1: 12 dc

Rang 2 a 10: 12 dc
Rang 11 : 12 sc in brown

In Option :

1) The neck : 1sc- 1Decrease in brown

2) 30 sc in brown on the bottom

3) go in and cut the thread

4) sew on the back of the velcro or buttons
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the finished sweater:

© Camille Thibaut
Tutoriel soumis aux droits d’auteur, toute reproduction ou vente de cette ceuvre est interdite !



THE SKIRT

3chain, turn

makes 34 row of 3 sc

= you get the elastic waist of the skirt

make 3 mc in stitch on row 1 and row 34 in order to get a closed circle
Row 1: *1dc- 1 chain — 1 dc* in a hole, skip the next hole

Row 2 a6 : *2dc- 2chain- 2dc in first one stitch arch — 1 dc in next arch * repeat all
the row
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